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In this laboratory we will examine two methods of assessing the intelligibility of speech passed
through a communication channel. One method examines the intelligibility of phonetic segments
and features in noise, and the other examines the effect of context on the intelligibility of words in
sentences.

1. You will hear a series of consonant-vowel (CV) nonsense syllables in which the vowel is
always /a/, and the consonants are selected from the list/odgptkfssvzZmnwyl/.
The speech is mixed with various amounts of white noise. The syllables are presented in
random order (with an extra pause after every 10 items), and there are several 90-item tests.
After you hear each item, you must write down which of the 16 consonants you heard. You
must always make a response of one of these consonants, even if you have to guess.

Each group will grade their results and organize them into confusion matrices. Is there a
pattern to the errors? Note that the consonants can be organized into features as follows:
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What can you say about the intelligibility of the individual features?
2. You will hear two lists of sentences in noise, and your task is to write down the last word in

each sentence. For some sentences, the context provides some information that helps to
predict the final word, and for others it does not.

Score your results, separating the data for the two types of sentences. The signal-to-babble
ratios for the two tests are 0 dB and +10 dB. Can you estimate how much the signal-to-
babble ratio must be increased if context is lacking in the sentences, to obtain an equivalent
intelligibility?

A brief report giving your results and making a few comments will be adequate.

3. As part of this lab, we will play the set of brief utterances that each group excised from their
recording of an ad lib description of the recording room. For each item, you should write
down what you hear, even if you are guessing. Most of the utterances are one or two
syllables; some may be three syllables, or more than one word.



